NHET HFEET 1 S

=

33

[T

(5]

AT

=z

(Y

BEME)E

= 15 o & P A X

ETFES

S ——

~N_

RBE R

kR

= kN

BERRRS T

Ak (k)

(AR ERE A

Bk

(Ex:#550 mm)

=

!

v
ME: A3V TT690)

/ #1165 mm

¥

y (723

REAREREREHRRIRA (BT ; A)
' AFRGREL | BRIBES| CRTHES & &t
SEFEE AL 2 3 8 13
BErERe ALK 153 89 100 342
el AR 155 92 108 355

BRImAL 3,382 3,382 3,382 (10,146

e ER (%) 4. 6 2. 7 3. 2 3.5

[R2@EiiERE: 10 %]

Rk EERR

Kk =

DRAFMAO

4
L
il

g W

VRSEHHO

(ESEREm
(EHBREN)

GHREME. A2 TT 600
" E?%%"]Z 2.2 mm
o BEX:H 1.3 mm




